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Note: The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e : ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

 Section - A 8 × 2 = 16
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e : g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1) Attempts all questions.

 g^r àíZm| H$mo hb H$s{OE&

	 (i)	 Define	public	economics.

  gmd©O{ZH$ AW©emó H$mo n[a^m{fV H$s{OE&

	 (ii)	 What	do	you	understand	by	non	rivalry	goods?

  J¡a à{VÛ§Xr dñVwAm| go ³¶m A{^àm¶ h¡?

	 (iii)	 What	is	incidence	of	tax?

  H$amnmV ³¶m h¡?

	 (iv)	 Who	gave	'ability	to	pay'	principle?

  {H$gZo ^wJVmZ gm‘Ï¶© {gÕm§V {X¶m?

	 (v)	 What	is	public	finance?

  bmoH${dÎm ³¶m h¡?

	 (vi)	 Define	capital	expenditure.

  ny§OrJV ì¶¶ H$mo n[a^m{fV H$s{OE&

	 (vii)	What	do	you	understand	by	negative	externalities?

  ZH$mamË‘H$ ~møVmE§ go Amn ³¶m g‘PVo h¡?

	 (viii)	What	is	market	failure?

  ~mOma {d’$bVm ³¶m h¡?
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 Section - B 4 × 8 = 32
(Short Answer Questions)

Note: Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e : {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&

2)	 How	do	balance	establish	between	different	branches	of	 the	

budget?

  ~OQ> H$s {d{^Þ emImAm| Ho$ ‘Ü¶ {H$g àH$ma gÝVwbZ ñWm{nV {H$¶m 
OmVm h¡?

3) Explain LindhahI's Voluntary Exchange Approach.

 qbS>hmb H$m ñd¡{ÀN>H$ {d{Z‘¶ Ñ{ï>H$moU H$s ì¶m»¶m H$s{OE&

4)	 Discuss	Arrow's	Impossibility	Theorem

 Eoamo H$s Ag§^dVm à‘o¶ MMm© H$s{OE&

5)	 Distinguish	 between	 Wiseman-Peacock	 and	 Wagner	

hypothesis.

 dmBO‘oZ-nrH$mH$ Am¡a d¡JZa XmoZm| H$s n[aH$ënZm ‘| A§Va ñnï> H$s{OE&

6)	 Distinguish	between	direct	and	indirect	tax.

 àË¶j Ed§ namoj H$a ‘| A§Va {b{IE&

7)	 What	do	you	understand	by	efficient	allocation?

 Amd§Q>Z Hw$ebVm go Amn ³¶m g‘PVo h¡?

8)	 Write	the	objectives	of	fiscal	policy

 amOH$mofr¶ Zr{V Ho$ CÔoí¶ {b{I¶o&
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9)	 Write	the	classification	of	public	debt.

 gmd©O{ZH$ F$U H$m dJuH$aU H$s{OE&

 Section - C 2 × 16 = 32
(Long Answer Questions)

Note: Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  : {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 What	 do	 you	 think	 of	 tax	 shifting?	Describe	 its	 principles	 in	

detail.

 H$a-{ddV©Z go Amn ³¶m g‘PVo h¡? BgHo$ {gÕmÝVm| H$m g{dñVma dU©Z 
H$amo&

11)	 Explain	the	meaning,	need	and	importance	of	public	debt.

 gmd©O{ZH$ F$U H$m AW©, Amdí¶H$Vm Ed§ ‘hÎd H$s ì¶m»¶m H$s{OE&

12) Write a short note on Fiscal Emergency

 amOH$s¶ AmnmV na EH$ bKw {Q>ßnUr {b{I¶o&

13)	 Explain	the	reasons	for	increasing	public	expenditure	in	India.

 ^maV ‘| gmd©O{ZH$ ì¶¶ ‘| d¥{Õ H$o H$maUm| H$s ì¶m»¶m H$s{OE&


